

$$\begin{aligned}
 \text{(i)} \quad m - 2 \\
 \text{Put } m = 2 \\
 = 2 - 2 \\
 = 0
 \end{aligned}$$

$$\begin{aligned}
 \text{(ii)} \quad 3m - 5 \\
 \text{Put } m = 2 \\
 = 3 \times 2 - 5 \\
 = 6 - 5 \\
 = 1
 \end{aligned}$$

$$\begin{aligned}
 \text{(iii)} \quad 9 - 5m \\
 \text{Put } m = 2 \\
 = 9 - 5 \times 2 \\
 = 9 - 10 \\
 = -1
 \end{aligned}$$

$$\begin{aligned}
 \text{(iv)} \quad 3m^2 - 2m - 7 \\
 \text{Put } m = 2 \\
 = 3 \times 2^2 - 2 \times 2 - 7 \\
 = 12 - 4 - 7 \\
 = 12 - 11 \\
 = 1
 \end{aligned}$$

$$\begin{aligned}
 \text{(v)} \quad \frac{5m}{2} - 4 \\
 \text{Put } m = 2 \\
 = \frac{5 \times 2}{2} - 4 \\
 = 5 - 4 \\
 = 1
 \end{aligned}$$

$$\begin{aligned}
 \text{(vi)} \quad 4p + 7 \\
 \text{put } p = -2 \\
 = 4(-2) + 7 \\
 = -8 + 7 \\
 = -1
 \end{aligned}$$

$$\begin{aligned}
 \text{(vii)} \quad -3p^2 + 4p + 7 \\
 \text{put } p = -2 \\
 = -3 \times (-2)^2 + 4(-2) + 7 \\
 = -3 \times 4 - 8 + 7 \\
 = -12 - 8 + 7 \\
 = -20 + 7 \\
 = -13
 \end{aligned}$$